M 330 HW 2,3
rx

j 7\ 59°0.43 Q=%
[i [0ip J:/,’h,7{n 47:3.6;([0’6[5'.5/:92

Calyulgie ¥ Yoe laas1or OF 4 Wayey poponei6s 09>l atd &
Bz e Pagm 7 Fiawe 159
| Pv .1’:--7 Pﬂ’ﬁ: gf/o
| @»ngl/m’,,: MIE alfs = 0857 AYs \f 0557 475 = Pl
° /’ﬂ/z{
an DQ- [02475 G, 83: 04 b3 — [7308)

2540 lbps/e

C= 8 Ol Aclhe) ga @ ﬁ ’(aﬁf sl

| : o7 (p) 3107767
ISR CUNET A
"9(%(") o %2'2”;(‘8 ’))

iLl-. (13(7&/52 ) (10 -1) - .of85fg2.990 _ 184 qﬁ// =

dugys (1 Jqq) T a0 B ”//
105570/;] [ (}"'q‘: ﬁ’ﬂ’/sf (7 4‘""} 0[73 |/()l({ 018 ft/f

V8 (1) T HAE (a05) Wf—r,;’— 1A
:

CamScanner



InHL5iMmEr T ey f oy 10 Clletiffe e Presthe droe ®
caies by 0 gy i sCHOuo apite. ] glso 1amed aep e
Pres€ oris [opoely bys@ on the gtioae we 920 Iometer )
Ve diomerer o The orifice's holea Eimalldy Ticumy ot Yepesne
i expanc™ 0o ot linélr : @'A@cam%e 0 renYier(Of,
2balpe,

CamScanner




Griws- Cineed @ 77°F >
flosrade  Tos a-\l [min 4s 1006 gal [amn
Mancaeter rpn 403 foomr © 4o %

" PERIAY
V:wgosin (TTR) 2 s.400fs
{J Flows coade = o.1154 f4°
. "«\/ 9= J2.210fs%

0.1337 £

leoo BN'/M/n ( _'24 s L.22¢% 4‘4’/’(‘
GoSec

|36\.l
Vi = Quax _ 2.22¢ Y5 17. 9 /5
A 0.(z259 2
Newax = (17,00 fabs ) 0.400 4  _ 194104

(24 x10™ 13 /5)
¥in=0.bLT71f

A

—————

T ——
Zoh ('1;—':‘3((-4“) :

+
[ i)
Az v.1254 f#° o
T . . $44.9 )it .
z(32 s )(o&uﬁ)(w)(mqu) N
l 17.04"
A, + c.075 f¢?
Az 14‘
d= vﬂWfJ (4) = 0.3094f

d:  o.s6a {4 ,(\3_"\

™

ldf 370 m I _

)

Yrm= s4q.4 1b/f*

Yo = 59 %R

CamScanner



\ .

Indhs thepbe | leaned how do ditimian Aue gt oF
e Howinozzle foifice. Ay how 0 compute fue

Wow

‘\S-v\i e (lc‘(“\“‘dﬁ numbt , \r\ Sent (Asef vaehul);
(V!é

wient C© W o 92 atyveed and compute  at
New h‘«(hu\ds namber .

“1‘0“‘{\1 0“’ “0\-’ and H’\chlu\vV\,l '{luu ra—‘-{ ay well wS
bo taovar Fue fie dischacge Coefficient by

CamScanner



J

\gc,) Y lq 0240, y= 0030 WH%““‘JH
‘DOZH E—

adﬂnnnﬁ—-

I

|
e
I

1
\
.xq.ay.m%ln‘ﬂ‘%ﬁﬁﬁ.@

B —

CamScanner



